



名前: _____

日にち: _____ スコア: _____

$$(2 - \frac{1}{2}) \times \frac{1}{4} =$$

$$2(4.6 + \frac{2}{5}) =$$

$$3(2.9 - \frac{1}{3}) =$$

$$2(\frac{1}{4} - \frac{1}{2}) =$$

$$(2 + \frac{1}{5}) \times \frac{1}{3} =$$

$$3(\frac{1}{2} + 3.6) =$$

$$(5 - 3) \times 2.4 =$$

$$4(\frac{2}{5} - 3.4) =$$

$$(4 - \frac{1}{3}) \times \frac{3}{5} =$$

$$(5 - 3.8) \times \frac{1}{5} =$$



名前: _____

日にち: _____ スコア: _____

$$\left(2 - \frac{1}{2}\right) \times \frac{1}{4} = \frac{3}{8}$$

$$2\left(4.6 + \frac{2}{5}\right) = 10$$

$$3\left(2.9 - \frac{1}{3}\right) = \frac{77}{10}$$

$$2\left(\frac{1}{4} - \frac{1}{2}\right) = \left(-\frac{1}{2}\right)$$

$$\left(2 + \frac{1}{5}\right) \times \frac{1}{3} = \frac{11}{15}$$

$$3\left(\frac{1}{2} + 3.6\right) = \frac{123}{10}$$

$$(5 - 3) \times 2.4 = \frac{24}{5}$$

$$4\left(\frac{2}{5} - 3.4\right) = (-12)$$

$$\left(4 - \frac{1}{3}\right) \times \frac{3}{5} = \frac{11}{5}$$

$$(5 - 3.8) \times \frac{1}{5} = \frac{6}{25}$$